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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions.

There are EIGHT questions divided in Two Sections and printed both in HINDI and in ENGLISH.
Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted choosing
at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in thé Admission Certificate which must be stated
clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No marks will
be given for answers written in medium other than the authorized one.

Coordinate diagrams, wherever required, shall be drawn in the space provided for answering the
question itself.

Unless otherwise mentioned, symbols and notations carry their usual standard meanings.

Assume suitable data, if considered necessary, and indicate the same clearly.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted parily. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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Values of fundamental physical constants

Planck’s constant / = 66262 % 1073475
mass of electron m 9-1091 x 103! kg
charge on electron e 160210 x 1079 C

velocity of light in a vacuum ¢ = 2:997925 x 10 ms™!
Avogadro constant N, - . = 6-022045 x 102 mol!
Boltzmann constant kg = .1-3805 x 107} JK~!
Faraday constant /° = 96500 C mol™!

Gas constant R ; =- 8314 JK mol™!

Y = 3-14

| WUE ‘A’  SECTION ‘A’

1.(a) OGO T 7 ¥ I A oud @ S % IEAE H S A et ¥ 7
COI™ Ma" & SeeRw § A R =+ HIT |
What is resonance energy ? What are the conditions which permit structures to
have resonance ? Discuss resonance taking the example of COi_ ion. 10

1.(b) Qamafﬁﬁ%ﬁq,méﬁmiwﬁwﬁw%,

3/2
dN, = 4nN| — 2 ¢ e=me*/2kgT ge

Siel,

dM = 9 &1 ¢ " (c+de)H Mﬁﬁﬂ'@ﬂ%l

N = 3uRi 6t g ge § |

m = 3fvae gela B |

T = Ffca &bt § AT B |

@ it fram < wileean =TE % T et w1 ogeas R |

For an ideal gas, the distribution law of molecular speed is,

J N3/2
" dN, = 4nN T ¢ e me*/2kpT e
27k T

~ where, :
dN, = Number molecules within the speed range ¢ and (¢ + dc).

N = Total number of molecules.

m = Molecular mass.

T = Temperature in Kelvin scale,

Derive the expression of most probable speed of this gaseous system. 10
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1.(c)

1.(d)

1.(e)

2.(a)

2.(b)

S[eT A TR (1, ) 1 TRATST GIWT | ST gl # zaeht 3oms 71 § 7 gariey o6

p __L(aﬁj |
il CP oP T

Define Joule-Thomson coefficient ( U JT). What is its unit in SI system ? Show that

1 o 0H
O . 1 (2. N [ 10
My CP(BPJT,” .

(i) =R WEeAT & gow fom (ar sEe #) smvd © | e iy |

(i) % geF g g 7 T F R fUeerdl @ uieq 31 e & Fefarad e
2 | e Hifs |

(1) Four-phase sulphur system (in equilibrium) is impossible. Explain. 5

(11) In open container, on heating, solid sulphur melts, but solid iodine sublimes.
Explain. 5

SATE ohel WIMTT HIGRUT i 36k Wallehl ht arfercnall qom el & any fofay |

0-1 M NaCl (Stefta) fqaaa & fdu 25°C W Ared srafass wfhaan o &1 qikerem

IS | Sarg gohel faeie (A) @, 0-51 mol 2 L12 |

Write down the Debye-Hiickel limiting equation with symbolic significances and
their units. Calculate mean ionic activity co-efficient of 0-1 M NaCl (aq) solution
at 25°C. The value of Debye-Huckel constant (A) is 0-51 mol V2 L2, 10

(i) YT UM o °TT T B § 7 @l SI HTe qOTelt W gentd wa @ 7 amesf
T & FEar U R 19 6l GHE GRRICHS gidl © | SATedl iy |

(i1) R-smeel 1w & fou, smme g 1 ufemer e | aretEe i F fou gger
st feRTfery |

(1) What is the dimension of viscosity co-efficient 2 What is its unit in SI system ?

The temperature effect on viscosity co-efficient of ideal gas is positive.
Explain. 10

(i1) Define Boyle temperature of non-ideal gas. Obtain its expression for
van der Waals’ gas. 15

2 Tt = & Gl gdEn W fogel w1 uw fogd A gwadE faem s W
|AE & AT Tl H uiEdd wa iy | fear B T & aM W R @6 I8 aArd
490 dyne cm™! B | |

Find the change in surface area and energy when two identical mercury droplets of

diameter 2 mm merged isothermally to one drop. Given that surface tension of
mercury is 490 dyne cm™! at experimental temperature. 10
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2.(c)

3.(a)

3.(b)

298 K X, TEHTUTEH AMHRAT 2Cut (ag) = Cu(s) + Cu** (aq) & fou mmaw'[ |
foris 1 aRewan Hifg | foar 8 298 K 9 W

ES 1 o = FOS2V T Bl 00 =+0-16V |

Calculate the equilibrium constant for the disproportion reaction :

2Cut (aq) = Cu(s) + Cu?* (aq) at 298 K. Given : E;ﬁ/cu = +0-52 V and

Bl 5o = 016V 10t 298 K 15

(i) T &9 & o wm R fed wEn o, PR W, A9 qe o hE o aTd
R T AT R | 39 W H (D) A (D) AG & g 1 8 ? 3 S| &
el § @R dfsre |

(i) e e afufn % R AG (0 mol™) & AT T (K) ¥ @ ww
R, AG=a~+bT+ cT*<®l a, b AU cfoRTeE 8 3R 78 w@ad € |

() a, b7l ¢ AT FE ?

() ASTE AH & fug, T % e % w9 ¥, o 0 ST |

(i) At constant pressure, the temperature of a fixed amount of hot tea in a cup
decreases spontaneously to room temperature. What will be the sign of (I) AH
and (I) AG of this process ? Give reason(s) in support of your answer. 10

(il) AG (J mol™) for an electrochemical reaction, as a function of temperature,
T (K) is given by AG = a+bT+ ¢T? where a, b and ¢ are constants and
independent of 7.

I) What are the units of @, b and ¢ ? and

S

(II) Find the expressions of AS and AH as a function of 7. 15

srifirer Trer firew qen woff <1 afeamar Qfste | gkt SI A yorrelt | 3ehrd a1 @ 7

T A U WA €A e ¥ 7 e IR QI | F8 HI T ST SR AT

FRe hid H 7

Define partial molar Gibbs free energy. What is its unit in SI system ? Is it intensive
property ? Answer with justification. What factors influence its value ? 10
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"3.(c)

4.(a)

4.(b)

4.(¢)

5.(a)

5.(b) .

GeATad o7 BT aHe W foheeeia T BT @ | 0-154 nm T o= it X-fort e
FUH HIfE T ST A sind & AT 0-225, 0-316 F41 0-388 W, (100), (110) =T
(111) Tt & A BT § | =19 foheea &1 @t (SC or BCC or FCC) a1 Ueheh et
f gR FEmg o fraRe fif |

Polonium crystallizes i the cubic system. Using X-ray of wavelength 0-154 nm,
first order Bragg reflections occur at sin@ values 0-225, 0-316 and 0-388 from

(100), (110) and (111) planes respectively. Determine the class (SC or BCC or
FCC) of the cubic crystal and edge length (a) of unit cell. 15

(i) &= o & U forfia am=a § us &0 & g s 9o o2 & v o 23 R
WfareRar 1 uRea g |
(i) 1sﬂf§2@%%ﬂ1ﬁﬂ@%%@@aﬁiaﬂaﬂa@%aﬁﬂaﬁﬁni

(i) For a particle in one-dimensional box of length a calculate the probability of its

locating between zero and a/2. ‘ |5
(i1) Write the complete wave function for ls-orbital and deduce its shape. 10
NO & 3fqgreehed i, @ snfvas snfdea sma & @y, = Hifsa |
Explain the paramagnetism of NO with its molecular orbital diagram. 10

G 3fTere Rigia w1 IUERT 98U XeF, § I UHTH TomgM il @1 a@r
o=y |

Using valence bond theory justify the presence of two lone electron pairs in
XeF,. _ 15

gus ‘B’ SECTION ‘B’

§ ehife @t arforfspar & forg, smifasm @viteor, SHeh Wdlel & F8 q@m SI HIAS
Ut | ST Fehrgal fofau | oX fiadie o1 S==% 919 9 @\ #9 #9T Bl g 7
For zero-order reaction, write down the Arrhenius equation, indicating name of the

symbols and their units in SI system. What is high temperature limiting value of
rate constant ? 10

3y <l IS Weheh 3rEedT o T ISC (3T Tierma shifém) @/am B 7 Stardiaeh! 3@
T IUTNT & IR SIS |

What 1s ISC (Inter System Crossing) for an excited molecule in singlet state ?
Answer using Jablonski diagram. 10
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5.(c)

5.(d)

d.L8)

6.(a)

6.(b)

%?mamwwwﬁvmmmwﬁmﬁwecm:s%:um%1%9@%&5
e ¥ T (i) AG, (i) AS T (i) AH % Towe @1 B9 7 F9H IR & g
F forg sRor wegqa AT |

At constant pressure and temperature, adsorption of a gas on solid surface occurs
spontaneously. For this natural process, what will be the signs of (i) AG, (i1) AS and
(iii) AH * ? Give reason(s) in support of your answer. 10

¥ & Freferfaa ot it e fig
(i) Cp de o1 Gl & Idagetel FeTa |
(i) =6 HITeCIEE h godr # ST SAerrenor |

Explain the following properties of Ferrocene : 10
(i) Easy electrophilic substitution of its Cp ring.

(ii) Oxidation is difficult in comparison to that of cobaltocene.

“UOFTEE (I0) STl W FEeh eyl Wi R sEernsi & MR WROWT
T & fmr g 17 = i | -

“Magnetic moment of Lanthanidé (II1) ions is generally different from the value
predicted by spin state.” Explain. 10

(i) W%%_Wamm@w%%wwﬁﬁaﬁﬁﬁmww%?

(i) wEmate sfelen & afhaor gorf, £, 6t afarar @fg | g e e
afirfran 27°C o 30 fire § 25% 9ol Bt ® 3R 37°C W a1 € 10 fme ¥
A ® | E, 1 WM SI AEE WOEl A OHE hI |

(i) What are the characteristics, essential for catalysis with specific reference to
surface catalysis ? 10

(ii) Define activation energy, £, of a chemical reaction. A gas-phase reaction
completes 25% in 30 min at 27°C and in 10 min at 37°C. Determine the £, in SI
unit. . LS

fepet Ue aa SR & WeRIY S IUANT A TR TS Tard (WIeR "eld 294 g mol™!)
frema amafaa ey 80% T UTEA e adr g | e Y mol L1 @rgar A

deTu | fem 2, ﬁa‘;ﬁﬁeﬁﬁaa@ﬁwaﬂu g9 @I 10 om B FR gerd
FaLeERar 2-0 L gl em™! 2 |

Using a particular wavelength of light, a solution of a substance (molar mass
294 g mol™') transmits 80% of incident light. Determine the concentration of the
solution in mol L~'. Given that optical path length of the spectrophotometer tube

is 1-0 cm and absorptivity of the substance is 2-:0 L g™' em™". 10
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6.(c)

7.(a)

7.(b)

7:(c)

8.(a)

Steitd foeaa W NHE oA i 298 K TR Afefiear 7-62 x 108 m? 57! V-1 2 | aftema
ShISTY SEERT (i) AITR =Terehall (i) 25:0 cm g0 W o goagiel & weg fF afy @7 w
15-0 V 1 ferwer &7 fearm St | CH,COONH, (Stettar) ¥ 3t 2 srfmraeient &t wiemer
ifore afe g6l sreeen § CH,COO smaat &t wifasiierdr 424 x 108 m2 s v § |

In aqueous solution, at 298 K, the mobility of NHj ion is 762 x 1078 m?s~! V-1,
Calculate its (i) molar conductivity; (ii) velocity if 15-0 V is applied across
the electrodes of 25-0 cm apart. Calculate the transport numbers of the ions in
CH,COONH, (aq) solution if the mobility of CH,COO" ion is 4-24 x 10¥ m?s~! V!
under same condition. 15

(i) aEH & SORE ol waT dfed fafay iR s@es HCI 9o smads & &y
SUHETEl Gehele &l ewisy |

(i) K[Fe(CN)]HﬁﬁﬁﬂﬁﬂTiﬁgﬂﬁgﬁa%QﬁHﬁhaﬁ%? S* & @y gifegw
Arsgiarse S sifrfsran forfag |

(1) Write Vaska’s catalyst with structure and show its oxidative addition with

HCI and oxygen. 15
(i) How is K,[Fe(CN)] is converted into sodium nitroprusside ? Write reaction of
S*" ion with sodium nitroprusside. 10
ATl § wtedfeds e i aRerer R | 3 At 4 39 w9 § 7
q&T bt /1§ ?
Define prosthetic group in cytochromes. How do they differ from haemoglobin ?
What is their main function ? 10

fafers 7 @ 7 TRt B8 e fear ST @ 7 il ageat % AEeaot et
AT IR 1 Fui R |

What are silicones ? How are they obtained ? Discuss the important properties and
applications of organosilicon polymers. 15

(i) &gl # waqeh BAN frraw o1 aed = @ 7 feeaferfaa <1 |t [Fe(CN) |+ e
[Fe(CN) P~ R EAN from &Y dereqar ot o) dhifore ofik ga foam ot Sear &
wed # araAr fased frantferu |

(i) freea &= fagra 6t = fifse | ag aaisear ey g & 3 i 2 2

- [CoFg]* srgawareha & 3R [Co(NH,) " wfireprereia sterfer 9t sreherehi €,
W a2 & Fe g S T R § 2
(1) What is meant by EAN rule applied to the complexes ? Apply the concept of

EAN rule on the following two complexes [Fe(CN)G]”” and [Fe(CN)6]3‘ and
draw your conclusion about the validity of the rule. 10

(11) Explain crystal field theory. How does it differ from valence bond theory ?
How does this theory account for the fact that [CoF.]*~ is paramagnetic while
[CO(NI-I3)6]3+ 1s diamagnetic though both are octahedral. 15
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8.(b) Szt B s TR YRS v aEieR seead o 2 § T
37 wlFeaTEel &1 s WARREm qur Mafomm f 42 s s sfte fer
Bt ® |7 =ame dif |

“High oxidation states are more common in early actinides than lanthanides but the
12 oxidation state for americium and nobelium are more stable relative to those of
other actinides.” Explain. 10

8.(c) Wamwm%@%mamﬁﬂ@m%mlmw%ﬁﬂﬁ
o @ wfdenam sfiframet & Serww fafag |

Define phosphazenes with formulae for ring and chain types. Write two examples
of substitution reactions of cyclophosphazenes. 15
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